A2

He said, "l am going to the park." (change to indirect speech)
Answer:

She said, "It is raining today." (change to indirect speech)
Answer:

They said, "The sun will shine tomorrow." (change to indirect speech)
Answer:

He said, "I like hot weather." (change to indirect speech)
Answer:

She said, "It's snowing heavily." (change to indirect speech)
Answer:

He said, "I don't like windy days." (change to indirect speech)
Answer:

They said, "We will have a thunderstorm tonight." (change to indirect speech)
Answer:

She said, "l prefer sunny days." (change to indirect speech)
Answer:

He said, "It's foggy outside.” (change to indirect speech)
Answer:

They said, "There will be a heatwave next week." (change to indirect speech)
Answer:




Answers

He said, "l am going to the park." (change to indirect speech)
Answer: He said that he was going to the park.

She said, "It is raining today." (change to indirect speech)
Answer: She said that it was raining that day.

They said, "The sun will shine tomorrow." (change to indirect speech)
Answer: They said that the sun would shine the next day.

He said, "I like hot weather." (change to indirect speech)
Answer: He said that he liked hot weather.

She said, "It's snowing heavily." (change to indirect speech)
Answer: She said that it was snowing heavily.

He said, "I don't like windy days." (change to indirect speech)
Answer: He said that he didn't like windy days.

They said, "We will have a thunderstorm tonight." (change to indirect speech)
Answer: They said that they would have a thunderstorm that night.

She said, "l prefer sunny days." (change to indirect speech)
Answer: She said that she preferred sunny days.

He said, "It's foggy outside.” (change to indirect speech)
Answer: He said that it was foggy outside.

They said, "There will be a heatwave next week." (change to indirect speech)

Answer: They said that there would be a heatwave the following week.



